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Homework:
1. Consider the following scenario:

my=2.0 kg

State your assumptions.

Draw FBDs for each block.

Find the tension in the rope. (26 N}
Find the magnitude and direction of the acceleration of each block. { 3.3m/s’[up for m; and down for m,]}

my= 4.0kg
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2. Consider the following scenario: m,= 3.0kg

Frictionless desk
State your assumptions.

Draw FBDs for each block. | i 6.0k
Find the tension in the rope. {20 N) =00 ke

Find the magnitude and direction of the acceleration of each block.{6.5 m/s’[right for m, and down for m,}}




3. Consider a 10.0-kg object on a 25°-inclined plane. What is the minimal coefficient of friction required to
keep the object at rest? (1.=0.47)

4. What is the force paraliel with the inclined plane required to accelerate an object by 10 m/s*?
The coefficient of static friction between the surfaces is 0.2 and the object is at rest and its weight is 49N.

e=10-(’:;':ull(zr;:utsh =51 N}



